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UPSC CSAT

Previous Year Questions: Linear Arrangement

Q1.

Q2.

Q3.

A, B, C, D, E, F3IR G Id sufaq ¢ St &t Q1.

w0 H ufe # WS €, v fae o e 2
TEs €, 9 ST, ST, JAreft, &)@, die,
AT ST AT D 37U |THA &4 3 et at
@ UTAT & U ST S ET | E ST 30 uett
®I TG UTET ¢, W AT &I el G A sl
BIgat Gt T 1 S IfUai e THhdr 2139 E
ST 47t 21 TEA g, At F et 2rdt e
TS ? UPSC-2013

(a) el
(b) TR
(c) «
(d) =GR

BE YR Al A, B, C, D, E 3R F & sifera o
T & T | U W@ fET Sare B, C, E 3R F
T o B SMERUT ¥ Telfh 3T YRl
FERUTHAE | A, B 31 D Qs 78 & STaifeh 919
QU g §1 A, B 3R ¢ yEaeh fafer Raié &
STetfen I JEdeh SR % SEeX0T & i &t
YU STFAATT o SFIUT oht BX ATERUTT arett
Y& e ? UPSC-2014

(@) BIRC
() EIRF
© C3R

@ C3IRF

TR 9 Uk Ui § oS E1 A, B Sl sTeT areit
He WA AfFT C F e § eI C, D
S A H TET 93T &, af D o SWTA-aTeA HF
e/ et wame/2?

UPSC-2014
(@ B

®) A

(¢ B3RA

(d) A FEIER |

Q2.

Q3.

Seven men, A, B, C,D, E, F and G are standing
in a queue in that order. Each oneis wearing a
cap of a different colour like violet, indigo,
blue, green, yellow, orange and red. D is able
to see in front of him green and blue, but not
violet. E can see violet and yellow, but not red.
G can see caps of all colours other than
orange. If E is wearing an indigo-coloured
cap, then the colour of the cap worn by Fis
UPSC-2013
(a) Blue
(b) Violet
(¢) Red
(d) Orange

Six books are labelled A, B, C, D, E and F and
are placed side by side. Books B, C, E and F
have green covers while others have yellow
covers. Books A, B and D are new while the
rest are old volumes. Books A, B and C are
law reports while the rest are medical
extracts. Which two books are old medical
extracts and have green covers? UPSC-2014

() BandC
(h) Eand F
(c) Cand E
(d) CandF

Four children are sitting in a row. A is
occupying the seat next to B but not next to C.
If C is not sitting next to D, who is/are
occupying seat/seats adjacent toD ?

UPSC-2014
(a) B
(b) A
(¢) Band A
(d) Impossible to tell

Linear Arrangement 01



UPSC CSAT

Q4.

Q5.

Qeé.

Q7.

TH A WAT AR A, B,C, D, E, F3IRG Q4.

(FAFT T EIAE T FWE AR C F )
BHHHEIG. A MNBFHFATHRIE, B 3IRF
FATHEIAREFE SIRD FaaH g, AT et &

o Foreret T UX Shie |1 SR B9 2
UPSC-2014

() B

®) F

@© D

@ E

et Uy H ufar fiTa A, B, C, D, 3IRE 1
A 3R B fe=<t o s g €1 ¢ 31k B 3tiistt
IR AT TSTa & 1 D 37 A T 3 ferwt wagrat
FIE 3R B e oI %ha ueTd & 9ed sifue
A g URETe ?

UPSC-2017
(a) A
(b)) B
(c) D
@ E
HfTeRfaT, T, Tt st shatasmT
W IR qiemt TR it feaEt u e S g,
ferrg omavaes W& fom udtemd Tt o | €
HferenferaT @t Uit S udtem | Uget @t T
S Shrafasr o sre fomam = | @eAfasTT &t
T S Tt foRT I o dieh a1g | hi B
R Tder A A S g ? UPSC - 2017
(a) SfcrRTeRIA
(b) AR
(c) T
(d) SiafeRE
Frafafiaa w faer it UPSC-2017
1. A,B,C,D,E,F,G 3R H U ufed § ST &t
IR @RGSR |
B, G S TSl T ® |

F,G %3 T ¢ 3R E & TSl ¢ |

Q5.

Qé.

Q7.

www.khanglobalstudies.com

There are seven persons up on a ladder, A, B,
C,D,E,Fand G (notin thatorder). A is further
up than E but is lower than C. B is in the
middle. G is between A and B. E is between B
and F. If F is between E and D, the person on
the bottom step of the ladder will be

UPSC-2014
(@) B
(b) F
© D
(d) E

In a school, there are five teachers A, B, C,D
and E. A and B teach Hindi and English. Cand
B teach English and Geography. D and A
teach Mathematics and Hindi. E and B teach
History and French. Who teaches maximum

number of subjects ? UPSC-2017

(@) A
(b) B
(c) D
(d E
Four Tests-Physics, Chemistry, Mathematics
and Biology are to be conducted on four
consecutive days, not necessarily in the same
order. The Physics test is held before the test
which is conducted after Biology. Chemistry
is conducted exactly after two tests are held.
Which is the last test held ? UPSC-2017

(a) Physics

(b) Chemistry
(¢) Mathematics
(d) Biology

Consider the following: UPSC-2017

1. A, B,C,D,E, F, GandH are standing in
a row facing North.
B is not neighbour of G.

3. F is to the immediate right of G and
neighbour of E.
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Q8.

4. G IAHBRRTRI
5. AEHIHETIAC
6. H, CHIFTABIARI

Suderd & o |, frafafiaa & @ swF-a1 e
THE?

(@ C,A%IFHaEeI

() D, B 3R F &l G- TS 2|
(¢ GD*HIFEHRI

@) A3RE ISR RE

AT, IHHT WIE IHH YAt AT IHHN U
SEftied RaeTet € | Tk T (Soe]) Tl Ui

ER AT 8- UPSC-2018

1. AT P ME ITH P Y A F UR I
TG |

2. SHP H, U GRS RISl & HeleR ¥ 2 &
IR fereRuld: TE 2 |

3. Had 3791 Radre! A1 gy W Raeret A
FUH G REE

wad ST faarSi e ?
(a) ST IE
(b) IHH T

(c) SHPITA
(d) a&H

Q8.

UPSC CSAT

4. G is not at the extreme end.
5. A issixth to the left of E.
6. H is sixth to the right of C.

Which one of the following is correct in
respect of the above ?

(a) C is to the immediate left of A.

(b) D is immediate neighbour of B and F.
(¢) G is to the immediate right of D.

(d) A and E are at the extreme ends.

Lakshmi, her brother, her daughter and
her son are badminton players. A game

of doubles is about to begin: UPSC-2018

1. Lakshmi’s brother is directly across the
net from her daughter.

2. Her son is diagonally across the net
from the worst player’s sibling.

3. The best player and the worst player are
on the same side of the net.

Who is the best player ?

(a) Her brother
(b) Her daughter
(c) Her son

(d) Lakshmi

Answer key

Q1. ¢ Q3. b

Q5. b Q7. c
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Previous Years Questions: Circular Arrangement

Q1.

Q2.

Q3.

04

A, B, C, D, E 3% F S ohH | 37avas 181, Q1.
Teh el Ut & ORI MR safierd w7 | & g8

6 FRATT WA &1 T @ T TR A, D 3R E
FATHEL, C, D F AHEA LT R D qT F
Frituad! Hidat w &€ 21 et 9 &
HIF-|T Teh 0 GHiTad! Hidat ol ot gi

27 UPSC-1998

(@) AJRB

() C3RE

(¢) BIRE

@ A3RC

A, B, C, D, E 3R F Ush MoTasT & @-Ad Q2.

Tt w0 ¥ &t Hidat W oSS €, feg
AMAYTFH T ¢ | R STF AT HTHT T ¢ 1 T2
@I e - UPSC-2000

1. ADRFHIER

2. C,DHEHER

3. D 3R E 3ATel-Tel Hiis e ¢ |
Tt & & S9-91 U ST 2 2
(@ A BHFUHGRI

() D, ESTHE?

(¢) C ¥R D IA-TeA &

(d) B 3R E 3TTA-a7cA &

TSR A, B, C, D 3IRB T MAASTH IR Q 3.

TS T | Tieh it AivTehe hidat & THH i
whea?

UPSC-2013
1. C,AFTATE AL

2. A DUIFI FMASTR

3. B, AR AR TSGR

Circular Arrangement

A,B,C,D,EandF aresitting around a circular
table on permanently fixed chairs, but not
necessarily in the same order. It has been
observed that A is in between D and E, C is in
front of D and D and F are not in adjacent
chairs. Which of the following pairs is sitting
UPSC-1998

in adjacent chairs ?
() AandB
(h) Cand E
(c) BandE
(d) AandC

A, B, C,D,E,F are sitting around a circular
table on permanently fixed chairs, but not
necessarily in the same order. It has been
UPSC-2000

observed that...

1. Aisin between F and D
2. Cisinfrontof D

3. D and E are not in the adjacent chairs.
Which one of the following is true ?

(a) A isin front of B

(b) D isin front of E

(¢) CandD are adjacent

(d) B and E are adjacent

Five people A,B,Cand D and E are seated
about a round table. Every chair is
spaced equidistant from adjacent chairs.

UPSC-2013

C is seated next to A.
A is seated two seats from D.

N

B is not seated next to A.

w
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FrrefafEa & Q@ Sa-a1/9 Tava T /2 ? Which of the following must be true ?
i. D,BHFTANE LI i. D is seated next to B.
ii. E,ASqRITELI ii. E is seated Next to A.
ﬁ%mm@wmwnﬁw?ﬁm Select the correct answer from the codes
given below:
(@) HAAT (@) 1only
(h) HEATI (b) T only
() 13IIEHN (c) BothIandII
@ JANTITSI (d Neither I nor II

Answer key

Q1. b Q2. d Q3. b
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